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Diagrams of successful modeling attempts with three functions of type (1)
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By an automatic procedure, daily infection number developments in all a) countries and b) US counties
monitored by JHU [9] were modeled using a linear combination of three functions of type (1) (status:
end of June, 2020). The diagrams of those modeling attempts leading to an R?value (a) > 0.977, (b) >
0.970. The diagrams of those modeling attempts leading to an R? value > 0.97 (for the 7-days averaged
data) are shown in the following. As in Fig. 1 of the paper, function parameters for raw data (left
diagram) and for 7-days averaged data were determined separately (while for Fig. 2 parameters were
determined for 7-days averaged data only).
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(1: 9.6, a: 0.499, b: 0.253, t: 18.2) (1: 8.9, a: 0.208, b: 0.07, t: 17.8)
(1: 4.3, a: 1.998, b: 0.379, t: 29.0) (1: 0.1, a: 0.151, b: 0.008, t: 38.9)
| (1: 23.7, a: 1.054, b: 1.4, t: 41.7) (1: 0.1, a: 1.836, b: 0.114, t: 109.3)
175 JHU data JHU data
— calculated 1200 __ calculated
1500 41 — #1
— #2 100 —— #2
125 #3 #3
80
100
75 = 60
50 40
25 A AT || AR _ 20 f
0 - 0 ———
0 20 40 60 80 100 120 0 20 40 60 80 100 120

t [d] (days: 124) t [d] (days: 124)



()

175

150

125

100

75

50

25

Kern, California, US, Kern (R? = 0.74)

(1: 28.9, a: 0.001, b: 0.207, t: 28.9)
(i: 0.1, a: 0.316, b: 0.018, t: 39.1)
(1: 17.4, a: 2.0, b: 0.572, t: 105.0)

JHU data
== Calculated
— #1
— #2
#3
/\\
0 20 40 60 80 100

t [d] (days: 111)

Kern, California, US, Kern (R?2 = 0.975)
(1: 5.0, a: 0.573, b: 0.16, t: 10.7)
(1: 0.6, a: 2.0, b: 0.215, t: 22.3)

(I: 146.6, a: 0.008, b: 0.009, t: 140.0)

JHU data
- Calculated

| — #1

— #2
#3

e

0 20 40 60 80
t [d] (days: 111)

100




Monterey, California, US, Monterey (R? =
(I: 1.4, a: 0.089, b: 0.021, t: 1.0)
(1: 62.7,a: 2.0, b: 1.4, t: 108.9)

(1: 47.0, a: 0.001, b: 0.06, t: 126.8)

0.801)

JHU data
| == calculated
— #1
| — #2
#3

0 20 40 60 80
t [d] (days: 111)

100

()

80

60

40

20

Monterey, California, US, Monterey (R? = 0.991)

(1: 1.5, a: 0.083, b: 0.02, t: 1.0)
(1: 3.4, a: 0.182, b: 0.028, t: 64.1)
(1: 59.5, a: 0.001, b: 0.363, t: 118.2)

JHU data
- Calculated
— #1
— #2

#3

_—

0 20 40 60 80
t [d] (days: 111)

100




()

Weld, Colorado, US, Weld (R?2 = 0.768)

(1: 4.9, a: 0.253, b: 0.041, t: 5.1)
(1: 0.7, a: 1.268, b: 0.119, t: 36.2)
(1: 3.6, a: 1.982, b: 1.399, t: 102.6)

Weld, Colorado, US, Weld (R?

0.981)

(1: 4.8, a: 0.251, b: 0.041, t: 4.9)
(1: 0.7, a: 1.142, b: 0.109, t: 35.5)
(1: 5.7, a: 0.001, b: 0.203, t: 124.3)

JHU data JHU data
- calculated 710 calculated
80 4 —#
— #? 60 — H#2
#3 # 3
60 50
40 =
. 30
20
20
10
0 5
0 20 40 60 80 100 0 20

t [d] (days: 115)

40 60
t [d] (days: 115)

80

100




()

Hartford, Connecticut, US, Hartford (R? = 0.595) Hartford, Connecticut, US, Hartford (R? = 0.98)

(1: 13.0, a: 0.279, b: 0.036, t: 9.4) (1: 3.5, a: 0.259, b: 0.025, t: 1.0)
(1: 2.5, a: 2.0, b: 0.182, t: 57.7) (1: 0.1, a: 1.06, b: 0.059, t: 14.2)
(1: 0.1, a: 1.978, b: 0.42, t: 103.1) (1: 0.1, a: 1.818, b: 0.097, t: 52.6)
JHU data JHU data
- Calculated - Calculated
400 " 200 — #1
— #2 — #2
#3 # 3
300 150
200 100
100 ‘ 50
0 - 0
0 20 40 60 80 100 0 20 40 60 80 100

t [d] (days: 114) t [d] (days: 114)



()

Santa Rosa, Florida, US, Santa Rosa (R? = 0.691) Santa Rosa, Florida, US, Santa Rosa (R? = 0.981)

(1: 0.3, a: 2.0, b: 0.233, t: 19.8) (1: 0.6, a: 0.411, b: 0.066, t: 15.1)
(I1: 3.1, a: 2.0, b: 0.574, t: 33.3) (I1: 3.6, a: 0.001, b: 0.365, t: 84.4)
(1: 0.1, a: 1.01, b: 0.058, t: 103.5) (1: 0.1, a: 0.786, b: 0.045, t: 100.7)
JHU data JHU data
| == calculated 00| == calculated
100 0 — #1 :
— #2 | —— #2
30 #3 >0 #3
40
00 —
=30
40 /
20 /
20
10
0 0 >
0 20 40 60 80 100 120 0 20 40 60 80 100 120

t [d] (days: 122) t [d] (days: 122)



()

Fulton, Georgia, US, Fulton (R? = 0.653)
(I1: 14.5, a: 0.194, b: 0.053, t: 17.8)

(1: 26.5, a: 1.997, b: 1.4, t: 23.5)
(I: 22.4, a: 0.254, b: 0.028, t: 107.1)

JHU data |
>00 - Calculated 350

— #1
300

— #2

400 ]
250
300 200

/ =z
200 | 150
, 100
100
50
\{
0 - a A 0
0 20 40 60 80 100 120

t [d] (days: 125)

Fulton, Georgia, US, Fulton (R? = 0.976)

(I: 23.5, a: 0.179, b: 0.051, t: 18.4)
(I: 0.3, a: 1.871, b: 0.141, t: 77.2)

(I: 836.2, a: 0.037, b: 0.028, t: 140.0)

JHU data
- Calculated
— #1
— #2
#3
0 20 40 600 30 100 120

t [d] (days: 125)




()

Richmond, Georgia, US, Richmond (R? = 0.707) Richmond, Georgia, US, Richmond (R? = 0.976)

(1: 6.5, a: 0.393, b: 0.137, t: 20.8) (1: 0.1, a: 0.674, b: 0.048, t: 9.0)
(1: 0.1, a: 1.876, b: 1.4, t: 43.4) (1: 0.1, a: 1.143, b: 0.066, t: 94.8)
(1: 0.1, a: 1.382, b: 0.078, t: 96.5) 70 (1: 8.3, a: 0.001, b: 0.07, t: 103.6)
100 JHU data JHU data
- Calculated - Calculated
— #1 60| 4
80 — #2 o #2
#3 50 #3
60 40
40 - 30
20
20
10
0 0 _
0 20 40 60 80 100 0 20 40 60 80 100

t [d] (days: 111) t [d] (days: 111)



()

Cook, lllinois, US, Cook (R? = 0.894) Cook, lllinois, US, Cook (R? = 0.984)

(1: 0.1, a: 0.882, b: 0.037, t: 44.1) (1: 0.1, a: 0.543, b: 0.021, t: 55.4)
(1: 0.1, a: 0.476, b: 0.018, t: 48.0) (1: 244.4, a: 0.211, b: 0.08, t: 59.4)
(1: 1.8, a: 0.694, b: 0.05, t: 140.0) 1 750. (1: 0.6, a: 2.0, b: 0.131, t: 68.1)
JHU data > JHU data
2000 == calculated - Calculated
— #1 1500 — #1
— #2 — #2
#3 - #3
1500. 1250
1000
1000 = e
500
500
250 \
0 - 0
0 20 40 60 80 100 120 140 160 0 20 40 60 80 100 120 140 160

t [d] (days: 164) t [d] (days: 164)



DuPage, lllinois, US, DuPage (R? = 0.723) DuPage, lllinois, US, DuPage (R? = 0.974)

(i: 0.9, a: 0.475, b: 0.041, t: 1.0) (i: 36.3, a: 0.12, b: 0.06, t: 14.1)
(1: 0.1, a: 0.499, b: 0.025, t: 16.9) (1: 0.1, a: 1.04, b: 0.055, t: 30.3)
(I1: 49.4, a: 0.046, b: 0.053, t: 113.9) (1: 0.1, a: 1.008, b: 0.053, t: 45.8)
JHU data JHU data
350 = calculated 175 = calculated
— #1 — #1
300 — #2 150 — #72
#3 #3
250 195
=200 =100
150 75
100 50
50 25
0 0
0 20 40 60 80 100 0 20 40 60 80 100

t [d] (days: 114) t [d] (days: 114)



()

Lake, lllinois, US, Lake (R?2 = 0.666) Lake, lllinois, US, Lake (R? = 0.985)

(1: 0.5, a: 0.479, b: 0.033, t: 1.0) (1: 0.6, a: 0.442, b: 0.033, t: 1.0)
(1: 0.1, a: 0.503, b: 0.025, t: 21.7) (1: 0.1, a: 0.502, b: 0.025, t: 22.0)
(1: 32.6, a: 0.001, b: 0.291, t: 115.2) (1: 34.1, a: 0.001, b: 0.205, t: 120.1)
350 JHU data JHU data
== Calculated 1/5| = calculated
3000 — #1 — #1
— #2 150 —— #2
250 #3 #3
125
200
ElOO
150 _
75
100 50
50 25
0 0
0 20 40 60 80 100 120 0 20 40 60 80 100 120

t[d] (days: 117) t [d] (days: 117)



()

400

300

Cass, Indiana, US, Cass (R?2 = 0.595)

(1: 0.1, a: 2.0, b: 0.137, t: 15.0)

Cass, Indiana, US, Cass (R? =

0.978)

(I: 0.1, a: 0.87, b: 0.058, t: 9.4)

(1: 10.2, a: 2.0, b: 0.252, t: 23.6) (I: 1.4, a: 2.0, b: 0.163, t: 20.9)
(1: 1.7, a: 0.599, b: 1.041, t: 101.5) (1: 1.5, a: 0.29, b: 0.893, t: 100.9)
JHU data JHU data
== Calculated 140 = calculated
— #1 — #1
— #2 1201 —— #72
#3 # 3
100
S 80
00
40
20
0 —
0 20 40 60 80 100 0 20 40 60 80 100

t [d] (days: 98)

t [d] (days: 98)



Elkhart, Indiana, US, Elkhart (R? = 0.676)

(1: 0.4, a: 0.271, b: 0.029, t: 1.0)
(1: 0.1, a: 0.371, b: 0.022, t: 29.0)
(1: 24.8, a: 2.0, b: 1.4, t: 83.3)

120 JHU data 80
: ;allculated 70

1000
#3 60
80 50
60 §4o
30

40
20
20 10
0 | 0
0 20 40 60 80 100

t [d] (days: 107)

Elkhart, Indiana, US, Elkhart (R? = 0.982)

(1: 0.1, a: 0.484, b: 0.039, t: 1.8)

(I: 11.2, a: 0.115, b: 0.027, t: 44.0)

(1: 0.6, a: 2.0, b: 0.209, t: 82.3)

JHU data
- Calculated
— #1
— #2

#3

40 60 80
t [d] (days: 107)

100




Black Hawk, lowa, US, Black Hawk (R2 = 0.719) Black Hawk, lowa, US, Black Hawk (R? = 0.985)

()

(1: 0.1, a: 1.187, b: 0.009, t: 21.1) (1: 6.2, a: 0.515, b: 0.101, t: 24.6)
(1: 7.8, a: 1.315, b: 0.226, t: 35.5) (1: 0.1, a: 1.698, b: 0.097, t: 29.5)
(1: 23.9, a: 1.068, b: 1.4, t: 98.7) (1: 33.9, a: 0.001, b: 0.162, t: 121.0)
JHU data 100 JHU data
- Calculated - Calculated
| —— #1 — #1
— #2 — #2
#3 80 #3
60
40
(T 20
] 5
0 20 40 60 80 100 0 20 40 60 80 100

t [d] (days: 110) t [d] (days: 110)



Crawford, lowa, US, Crawford (R? = 0.566) Crawford, lowa, US, Crawford (R? = 0.972)

()

(1: 0.1, a: 1.847, b: 0.127, t: 28.7) (1: 0.1, a: 0.275, b: 0.024, t: 13.4)
(1: 6.1, a: 2.0, b: 0.392, t: 42.9) (1: 0.1, a: 1.605, b: 0.12, t: 28.1)
(1: 3.9, a: 0.49, b: 1.086, t: 100.1) (1: 0.1, a: 1.939, b: 0.134, t: 38.1)
JHU data 30 JHU data
- Calculated - Calculated
| —— #1 o5 — #1
— #2 — #2
#3 # 3
20
o 15
/ 10
[ '} 5
O
0 20 40 60 80 100 0 20 40 60 80 100

t [d] (days: 98) t [d] (days: 98)



Polk, lowa, US, Polk (R? = 0.668) Polk, lowa, US, Polk (R?2 = 0.972)

(1: 1.3, a: 0.427, b: 0.077, t: 4.4) (1: 0.1, a: 0.315, b: 0.017, t: 2.1)
(1: 11.5, a: 0.313, b: 0.067, t: 30.0) (1: 0.4, a: 2.0, b: 0.147, t: 40.3)
500 (I: 52.6, a: 2.0, b: 0.868, t: 45.3) 160 (I: 199.7, a: 0.005, b: 0.06, t: 140.0)
JHU data JHU data
175 — calculated 140 — calculated
— #1 — #1
1501 #2 120 — #2
#3 # 3
125 100
glOO ) 380
715 60
50 ' V i TBRWEERNI R 40
25 20
0 0
0 20 40 60 80 100 0 20 40 60 80 100

t[d] (days: 112) t [d] (days: 112)



()

Woodbury, lowa, US, Woodbury (R? = 0.539) Woodbury, lowa, US, Woodbury (R? = 0.976)

(I: 0.9, a: 0.936, b: 0.071, t: 24.5) (I: 3.4, a: 0.82, b: 0.089, t: 26.6)
(1:17.7, a: 2.0, b: 0.446, t: 48.8) (1: 7.9, a: 0.679, b: 0.129, t: 43.8)
(I: 52.2,a:1.735, b: 1.168, t: 105.6) (I: 4.3, a: 0.004, b: 0.629, t: 107.5)
JHU data JHU data
3000 calculated 100 = calculated
— #1 — #1
250 — #2 — #D
#3 80 #3
200
—~ 60
150 =
40
100:
50 20
0 0
0 20 40 60 80 100 0 20 40 60 80 100

t [d] (days: 106) t [d] (days: 106)



Finney, Kansas, US, Finney (R? = 0.52) Finney, Kansas, US, Finney (R? = 0.984)

(1: 0.1, a: 0.864, b: 0.05, t: 13.5) (1: 0.1, a: 0.76, b: 0.045, t: 12.0)
(1: 2.8, a: 2.0, b: 0.299, t: 41.2) (1: 0.1, a: 1.709, b: 0.123, t: 36.6)
140 (1: 6.3, a: 0.57, b: 1.208, t: 103.3) 70 (1: 1.7, a: 0.228, b: 1.107, t: 100.6)
JHU data JHU data
- Calculated - Calculated
120, #1 60 .,
— #2 — #2
100 #3 50 #3
30 40
60 = 30
40 20
N\
20 10
0 e e 0 =
0 20 40 60 80 100 0 20 40 60 80 100

t [d] (days: 98) t [d] (days: 98)



()

Sedgwick, Kansas, US, Sedgwick (R? = 0.733) Sedgwick, Kansas, US, Sedgwick (R? = 0.974)

(1: 2.7, a:0.17, b: 0.042, t: 2.3) (1: 0.7, a: 0.48, b: 0.062, t: 1.0)
(1: 0.1, a: 0.33, b: 0.02, t: 64.1) (1: 3.8, a: 0.351, b: 0.15, t: 30.3)
(1: 3.6, a: 2.0, b: 0.338, t: 102.4) (1: 0.1, a: 0.185, b: 0.008, t: 55.1)
JHU data * JHU data
100 - Calculated 70 - Calculated
— #1 — #1
— #? 60  #D
80 43 #3
50
60 40
40 30 /
20 ’
20
10
0 20 40 60 80 100 0 20 40 60 80 100

t [d] (days: 109) t [d] (days: 109)



()

400

300

Calcasieu, Louisiana, US, Calcasieu (R? =
(1: 5.5, a: 0.398, b: 0.127, t: 6.7)
(1: 9.9, a: 1.587, b: 1.4, t: 61.5)

(1: 129.0, a: 2.0, b: 1.25, t: 102.3)

0.65)

JHU data
- Calculated
— #1
— #2

#3

40 60 80 100

t [d] (days: 108)

()

175

150

125

100

75

50

25

Calcasieu, Louisiana, US, Calcasieu (R? =

0.971)
(1: 5.5, a: 0.327, b: 0.111, t: 6.2)
(1: 0.1, a: 0.465, b: 0.03, t: 68.7)
(1: 0.1, a: 1.748, b: 0.092, t: 93.7)

JHU data
== Calculated
— #1
— #2
#3
//
0 20 40 60 80 100

t [d] (days: 108)




()

700
600
500

300
200
100

Jefferson, Louisiana, US, Jefferson (R? =
(I: 0.1, a: 0.993, b: 0.049, t: 1.0)
(1: 39.1, a: 2.0, b: 0.348, t: 17.4)
(1: 0.1, a: 0.265, b: 0.014, t: 61.9)

0.678)

JHU data
- Calculated
— #1
— #2

#3

L e

0 20 40 60 80
t [d] (days: 115)

100

400
350
300
250

S 200
150
100

50

Jefferson, Louisiana, US, Jefferson (R?2 = 0.971)

(1: 0.1, a: 1.399, b: 0.063, t: 5.7)
(1: 40.1, a: 0.001, b: 1.174, t: 39.1)
(1: 0.1, a: 0.284, b: 0.016, t: 64.0)

JHU data
- Calculated
— #1
— #2

#3

A

0 20 40 60 80
t [d] (days: 115)

100




()

Worcester, Massachusetts, US, Worcester (R?2 = 0.721) Worcester, Massachusetts, US, Worcester (R?2 = 0.973)

(1: 0.2, a: 0.606, b: 0.036, t: 1.8) (1: 0.2, a: 0.566, b: 0.033, t: 1.0)
(1: 0.1, a: 0.494, b: 0.024, t: 14.0) (1: 0.1, a: 0.495, b: 0.024, t: 14.9)
(1: 14.7, a: 1.999, b: 1.4, t: 108.5) (1: 20.9, a: 0.001, b: 0.162, t: 130.8)
JHU data JHU data
40(0Q| == calculated 250 | == calculated
— #1 — #1
— #2 — #2
#3 200 #3
300:
150
200 =
100
100
50
0 = 0
0 20 40 60 80 100 120 0 20 40 60 80 100 120

t [d] (days: 118) t [d] (days: 118)



Oakland, Michigan, US, Oakland (R? = 0.764) Oakland, Michigan, US, Oakland (R? = 0.974)

(1: 4.0, a: 0.601, b: 0.051, t: 4.9) (1: 0.8, a: 0.677, b: 0.042, t: 1.0)
(1: 47.0, a: 2.0, b: 1.179, t: 41.8) (1: 0.1, a: 1.172, b: 0.069, t: 34.5)
(1: 1.9, a: 2.0, b: 0.417, t: 98.5) (1: 35.1, a: 0.325, b: 0.125, t: 58.6)
JHU data JHU data
35(0| == calculated 300 | == calculated
— #1 — #1
300 — #2 | —— #2
#3 250 #3
— 200 —~
= =150
150
100
100
50 /\ \ 50
O N v O _
0 20 40 60 80 100 120 0 20 40 60 80 100 120

t[d] (days: 117) t [d] (days: 117)



()

Wayne, Michigan, US, Wayne (R? = 0.794) Wayne, Michigan, US, Wayne (R? = 0.979)

(1: 0.1, a: 1.072, b: 0.045, t: 1.0) (1: 0.2, a: 1.004, b: 0.045, t: 1.0)
(1: 0.1, a: 0.647, b: 0.035, t: 20.9) (1: 57.1, a: 0.31, b: 0.091, t: 36.0)
(1: 71.6, a: 2.0, b: 0.602, t: 41.1) 300. (1: 26.0, a: 0.002, b: 0.186, t: 123.7)
| JHU data JHU data
1000 == Calculated 700 — calculated
— #1 — #1
— #2 | —— #2
800~ *2 600 — 7°
500
000
5400
400 \ 300
200
200 \
‘ ! Y AJUL | 100
0 : Vida '3 0
0 20 40 60 80 100 120 0 20 40 60 80 100 120

t[d] (days: 117) t [d] (days: 117)



()

Hennepin, Minnesota, US, Hennepin (R? = 0.813)

(1: 11.1, a: 0.107, b: 0.022, t: 13.6)
(1: 0.1, a: 0.555, b: 0.027, t: 29.9)
(1: 2.7, a: 0.636, b: 0.073, t: 97.1)

350 JHU data 250
== Calculated
300 — =#1
— #? 200
250 #3
200 150
150 100
100
50
50
0 0
0 20 40 60 80 100 120

t [d] (days: 116)

Hennepin, Minnesota, US, Hennepin (R2 = 0.987)
(I: 3.4, a: 0.153, b: 0.019, t: 4.3)
(I: 0.1, a: 0.54, b: 0.0206, t: 29.3)
(1: 0.1, a: 0.748, b: 0.042, t: 88.4)
JHU data
- Calculated
—— #1
—— #2
#3
0 20 40 60 30 100 120

t [d] (days: 116)



Buchanan, Missouri, US, Buchanan (R? = 0.66) Buchanan, Missouri, US, Buchanan (R? = 0.975)
(1: 3.5, a: 2.0, b: 0.257, t: 32.9) (1: 0.2, a: 2.0, b: 0.131, t: 29.2)
(1: 0.1, a: 1.039, b: 0.08, t: 43.5) (1: 0.1, a: 1.056, b: 0.084, t: 43.8)
(1: 0.1, a: 2.0, b: 0.193, t: 87.9) (1: 4.3, a: 0.001, b: 0.048, t: 72.1)
JHU data JHU data
- Calculated - Calculated
1000 4 40/ — #1
— #2 — #2
30 #3 #3
30
o0 —~
— 20
40
50 10
0 : — 0 —
0 20 40 60 80 100 0 20 40 60 80 100

t [d] (days: 101)

t [d] (days: 101)




St. Louis, Missouri, US, St. Louis (R?2 = 0.588) St. Louis, Missouri, US, St. Louis (R2 =0.971)

(1: 0.1, a: 0.804, b: 0.042, t: 3.9) (1: 0.1, a: 0.764, b: 0.04, t: 3.0)
(1: 38.3, a: 0.179, b: 0.114, t: 43.2) (1: 37.9, a: 0.162, b: 0.11, t: 43.7)
(1: 19.9, a: 0.957, b: 0.328, t: 107.4) 150 (1: 2.1, a: 1.011, b: 0.119, t: 103.5)
200 JHU data JHU data
== Calculated == Calculated
175 — #1 100 — #1
— #2 — #2
150 #3 #3
80
125
£100 = 60
15 40
50 |
X 20
25
0 0
0 20 40 60 80 100 120 0 20 40 60 80 100 120

t [d] (days: 120) t [d] (days: 120)



()

Middlesex, New Jersey, US, Middlesex (R? = 0.793) Middlesex, New Jersey, US, Middlesex (R? = 0.986)

(1: 0.1, a: 0.92, b: 0.041, t: 3.1) (1: 0.1, a: 0.839, b: 0.037, t: 1.3)
(1: 28.5, a: 0.489, b: 0.081, t: 34.6) (1: 27.3, a: 0.461, b: 0.079, t: 34.8)
(1: 0.1, a: 0.364, b: 1.183, t: 94.9) (1: 6.3, a: 0.554, b: 1.011, t: 118.9)
700 JHU data JHU data
— calculated 400) calculated
600 — #l — #1
— #2 — #2
500 %7 300 %3
400 .
=200
300
200
100
100
0 : 0
0 20 40 60 80 100 120 0 20 40 60 80 100 120

t [d] (days: 117) t [d] (days: 117)



()

300

250

200

100

50

Monmouth, New Jersey, US, Monmouth (R? = 0.789)
(1: 13.0, a: 0.287, b: 0.043, t: 5.0)
(1: 17.0, a: 2.0, b: 0.343, t: 22.2)
(1: 0.1, a: 1.2, b: 1.399, t: 131.2)
JHU data
- Calculated
— #1
— #2
#3
0 20 40 00 80 100 120

t [d] (days: 118)

()

250

200

150

100

50

Monmouth, New Jersey, US, Monmouth (R? = 0.984)
(1: 0.1, a: 1.042, b: 0.053, t: 1.6)
(1: 0.1, a: 1.992, b: 0.101, t: 16.8)
(1: 26.3, a: 0.241, b: 0.061, t: 28.7)
JHU data
- Calculated
— #1
— #2
#3
0 20 40 00 80 100 120

t [d] (days: 118)



Morris, New Jersey, US, Morris (R? = 0.752) Morris, New Jersey, US, Morris (R? = 0.982)

(1: 0.1, a: 0.951, b: 0.046, t: 2.9) (1: 3.1, a: 0.397, b: 0.037, t: 1.8)
(1: 11.7, a: 0.454, b: 0.092, t: 32.3) (1: 0.2, a: 2.0, b: 0.127, t: 15.4)
(1: 0.3, a: 1.623, b: 1.275, t: 106.1) (1: 5.9, a: 0.638, b: 1.4, t: 109.1)
300 JHU data JHU data
| == calculated == Calculated
— #1 200) 4,
250 — #2 — #2
#3 #3
200 150
— 150 =
= =100
100
50 50
O
—-50 . . . . . . 0 . . . . . .
0 20 40 o0 30 100 120 0 20 40 o0 30 100 120

t [d] (days: 116) t [d] (days: 116)



()

Ocean, New Jersey, US, Ocean (R2=0.727) Ocean, New Jersey, US, Ocean (R?2 = 0.975)

(1: 0.1, a: 0.979, b: 0.047, t: 1.0) (I: 6.6, a: 0.282, b: 0.032, t: 1.0)
(1: 26.6, a: 0.351, b: 0.081, t: 31.2) (1: 0.1, a: 1.716, b: 0.093, t: 9.6)
(1: 0.7, a: 1.668, b: 0.526, t: 117.2) (1: 1.5, a: 0.383, b: 0.104, t: 68.9)
250
JHU data JHU data
350 calculated = Calculated
— #1 — #1
300 — #> 200 — #2
#3 #3
250
150
150 - 100
100
50
50
0 : 0
0 20 40 60 80 100 0 20 40 60 80 100

t [d] (days: 115) t [d] (days: 115)



()

800

600

400

200

Passaic, New Jersey, US, Passaic (R? =0.761)

(I: 19.3, a: 0.624, b: 0.075, t: 13.4)
(I: 1.9, a: 0.809, b: 0.059, t: 28.8)
(I: 1.3, a: 0.693, b: 1.067, t: 120.8)

Passaic, New Jersey, US, Passaic (R? = 0.984)

(1: 16.9, a: 0.53, b: 0.062, t: 11.6)
(1: 3.0, a: 0.806, b: 0.066, t: 31.2)
(1: 0.6, a: 0.654, b: 1.19,t: 119.4)

JHU data JHU data
== Calculated == Calculated
— #1 400 — *#1
— #2 — #2

#3 #3

300
200
100
.7,V . v 0
0 20 40 60 80 100 120 0 20

t [d] (days: 118)

40 60 30 100
t [d] (days: 118)

120



Somerset, New Jersey, US, Somerset (R? = 0.802) Somerset, New Jersey, US, Somerset (R? = 0.98)

(1: 0.5, a: 0.504, b: 0.035, t: 1.2) (1: 0.2, a: 0.646, b: 0.036, t: 1.0)
(1: 10.9, a: 2.0, b: 0.468, t: 40.1) (1: 10.1, a: 0.495, b: 0.116, t: 37.7)
(1: 2.0, a: 1.962, b: 1.279, t: 111.2) (1: 0.1, a: 1.994, b: 0.674, t: 89.2)
200 JHU data JHU data
- Calculated 120 = calculated
175 — #1 — #1
— #2 — #2
150 #3 100 #3
125 30
:’100‘ — 60'
75
40
50
25 20
0 * - 5
0 20 40 60 80 100 120 0 20 40 60 80 100 120

t [d] (days: 116) t [d] (days: 116)



()

Rockland, New York, US, Rockland (R? = 0.781) Rockland, New York, US, Rockland (R? = 0.991)

(1: 0.1, a: 0.905, b: 0.04, t: 2.0) (1: 1.6, a: 0.694, b: 0.046, t: 5.3)
(1: 30.9, a: 2.0, b: 0.318, t: 45.8) (1: 13.3, a: 1.612, b: 0.222, t: 44.1)
(1: 2.5, a: 0.617, b: 1.1006, t: 122.7) (1: 0.6, a: 0.276, b: 1.163, t: 123.1)
1000 JHU data JHU data
== Calculated == Calculated
— #1 400 — #1
800 — #2 49
#3 # 3
300:
600
400 200
200 100
\
0 0
0 20 40 60 80 100 120 0 20 40 60 80 100 120

t[d] (days: 121) t [d] (days: 121)



()

Westchester, New York, US, Westchester (R? = 0.827) Westchester, New York, US, Westchester (R? = 0.996)

(1: 0.7, a: 0.522, b: 0.028, t: 1.0) (1: 0.1, a: 1.462, b: 0.059, t: 6.6)
(I1: 18.5, a: 2.0, b: 0.198, t: 16.5) (1: 0.1, a: 1.632, b: 0.069, t: 22.9)
(1: 10.0, a: 2.0, b: 1.1, t: 84.9) (I: 45.1, a: 0.553, b: 0.088, t: 38.9)
1600 JHU data JHU data
1400 == Calculated == Calculated
| — #1 | — #1
— #2 500 — #2
1200 #3 #3
1000 000
800 =
il |
600 00
400 500
200
0 | oy 0
0 20 40 60 80 100 120 0 20 40 60 80 100 120

t [d] (days: 125) t [d] (days: 125)



Durham, North Carolina, US, Durham (R? = 0.533) Durham, North Carolina, US, Durham (R? = 0.971)

(1: 12.5, a: 0.363, b: 1.399, t: 19.3) (1: 1.9, a: 0.163, b: 0.028, t: 1.0)
(1: 8.4, a: 2.0, b: 1.226, t: 32.4) (1: 2.7, a: 2.0, b: 0.351, t: 42.3)
(1: 24.6, a: 0.131, b: 0.06, t: 74.9) (1: 40.5, a: 0.077, b: 0.059, t: 76.5)
JHU data 80 JHU data
- Calculated - Calculated
| #1 7100 — ¢
| —— #2 — #2
#3 60 #3
50

240 |
30
20 A
L 10
O
0 20 40 60 80 100 120 0 20 40 60 80 100 120

t [d] (days: 116) t [d] (days: 116)



Cuyahoga, Ohio, US, Cuyahoga (R? = 0.575) Cuyahoga, Ohio, US, Cuyahoga (R? = 0.972)

(1: 4.4, a: 0.39, b: 0.0506, t: 5.0) (1: 4.5, a: 0.355, b: 0.052, t: 4.3)
(1: 0.1, a: 0.326, b: 0.018, t: 14.5) (1: 0.1, a: 0.328, b: 0.018, t: 15.8)
(1: 172.6, a: 0.001, b: 0.137, t: 130.4) (1: 161.5, a: 0.001, b: 0.144, t: 128.9)
JHU data 175 JHU data
35(0| == calculated - Calculated
— #1 — #1
300 —— #2 1500
#3 155 #3
250
EZOO E100
150 It 715
100 50
50 f “\\\\\\\\\\\\\\\\ 55
0 : 0
0 20 40 60 80 100 120 0 20 40 60 80 100 120

t [d] (days: 118) t [d] (days: 118)



()

Franklin, Ohio, US, Franklin (R? = 0.611) Franklin, Ohio, US, Franklin (R? = 0.985)

(1: 4.2, a: 0.214, b: 0.028, t: 1.0) (1: 64.8, a: 0.001, b: 0.113, t: 41.5)
(1: 62.3, a: 2.0, b: 1.011, t: 46.0) (1: 24.0, a: 0.507, b: 0.155, t: 43.0)
(1: 1639.5, a: 0.057, b: 0.013, t: 140.0) (1: 257.1, a: 0.004, b: 0.068, t: 140.0)
500 JHU data JHU data
- Calculated - Ccalculated
— #1 200 — #1
4000 4> — #2
#3 #3
300 150
200 - 100
| /N
0 0
0 20 40 60 80 100 0 20 40 60 80 100

t [d] (days: 114) t [d] (days: 114)



400

Hamilton, Ohio, US, Hamilton (R2 = 0.625)

(1: 0.1, a: 1.756, b: 0.105, t: 6.7)
(1: 19.4, a: 0.167, b: 0.059, t: 28.5)
(1: 171.6, a: 0.001, b: 0.088, t: 128.1)

350

300
250
=200
150
100
50

JHU data
- Calculated
— #1
— #2

#3

40 60 80 100

t [d] (days: 109)

20

175

Hamilton, Ohio, US, Hamilton (R? = 0.981)

(1: 0.1, a: 1.216, b: 0.075, t: 3.0)
(1: 23.5, a: 0.153, b: 0.068, t: 30.8)
(1: 156.1, a: 0.001, b: 0.097, t: 124.8)

t [d] (days: 109)

JHU data
- Calculated
— #1
| — #2
#3
0 20 40 00 30 100




Montgomery, Ohio, US, Montgomery (R? = 0.624) Montgomery, Ohio, US, Montgomery (R? = 0.987)

(1: 3.9, a: 1.036, b: 0.244, t: 14.8) (1: 0.1, a: 0.994, b: 0.073, t: 5.9)
(1: 8.4, a: 0.001, b: 1.361,t: 47.4) (1: 0.1, a: 0.558, b: 0.041, t: 31.4)
140 (I: 2.8, a: 0.275, b: 0.038, t: 77.3) (i: 0.1, a: 0.363, b: 0.021, t: 58.3)
JHU data JHU data
120 : ;allculated 50 : ;aiculated //~
— #2 — #2
100 #3 40 #3
80
=30 /
60 —
40 0
20 10 \1’//////
0 / 0
0 20 40 60 80 100 0 20 40 60 80 100

t [d] (days: 110) t [d] (days: 110)



Multnomah, Oregon, US, Multhomah (R?2 = 0.577) Multhnomah, Oregon, US, Multnomah (R? = 0.972)

(1: 2.3, a: 0.214, b: 0.041, t: 9.0) (1: 10.3, a: 0.123, b: 0.061, t: 15.3)
(1: 5.5, a: 2.0, b: 1.254, t: 15.0) (1: 0.1, a: 0.574, b: 0.037, t: 73.9)
(1: 45.60, a: 0.001, b: 0.079, t: 129.7) (1: 4.7, a: 0.202, b: 0.001, t: 106.0)
JHU data JHU data
| w—— calculated 60 - Ccalculated
—— #1 —— #1
— #2 50 —— #2
#3 #3
40
=30
20
Y 10
5 ¥ u O
0 20 40 60 80 100 120 0 20 40 60 80 100 120

t [d] (days: 117) t [d] (days: 117)



Berks, Pennsylvania, US, Berks (R? = 0.666)

(1: 0.1, a: 0.182, b: 1.219, t: 105.6)

(1: 6.0, a: 0.534, b: 0.065, t: 11.5)
(1: 13.0, a: 2.0, b: 0.979, t: 35.3)

Berks, Pennsylvania, US, Berks (R? =

0.978)

(1: 4.5, a: 0.533, b: 0.059, t: 10.5)
(1: 8.1, a: 0.587, b: 0.148, t: 45.2)

(1: 3.4, a: 1.724, b: 1.399, t: 132.7)

NS

JHU data JHU data
200 — calculated 120 — calculated
— #1 — #1
" 1000 s
150  *3 v
80
100 = 60
40
50
20
; J>- O
0 20 40 60 80 100 0 20

t [d] (days: 110)

40 60
t [d] (days: 110)

80

100




()

175
150
125
100
15
50
25

Delaware, Pennsylvania, US, Delaware (R? = 0.764)
(I: 0.8, a: 0.301, b: 0.022, t: 1.0)
(1: 2.3, a: 1.916, b: 1.4, t: 111.5)
(1: 10.5, a: 1.319, b: 1.4, t: 115.7)
JHU data
- Calculated
— #1
— #2
#3
0 20 40 60 30 100 120

t [d] (days: 122)

()

140

120

100

80

60

40

20

Delaware, Pennsylvania, US, Delaware (R? = 0.984)
(I: 9.0, a: 0.313, b: 0.044, t: 16.2)
(I: 0.1, a: 0.663, b: 0.038, t: 38.8)
(1: 13.0, a: 0.001, b: 0.394, t: 125.0)

JHU data
- Calculated
— #1
— #2

#3

N\

0 20 40 60 80 100

t [d] (days: 122)

120




200

Lehigh, Pennsylvania, US, Lehigh (R? =

(1: 2.4, a: 0.259, b: 0.03, t: 1.0)
(1: 0.1, a: 1.753, b: 0.093, t: 8.8)
(1: 8.2, a: 2.0, b: 0.75, t: 94.1)

0.796)

JHU data
- Calculated
— #1
— #2

#3

40 60 30
t [d] (days: 112)

100

()

140

120

100

80

60

40

20

Lehigh, Pennsylvania, US, Lehigh (R? =
(1: 0.1, a: 1.184, b: 0.061, t: 3.9)
(I: 4.7, a: 0.293, b: 0.048, t: 23.4)
(1: 4.5, a: 0.489, b: 0.173, t: 91.9)

0.988)

JHU data
- Calculated
— #1
— #2

#3

0 20 40 60 80
t [d] (days: 112)

100




Luzerne, Pennsylvania, US, Luzerne (R? =

(1: 1.0, a: 0.273, b: 0.029, t: 1.0)
(1: 0.1, a: 1.781, b: 0.094, t: 8.9)
(i1: 3.6, a: 2.0, b: 0.859, t: 107.3)

0.885)

JHU data

| - calculated

— #1

— #2

# 3

0 20 40 60 80
t [d] (days: 112)

100

t [d] (days: 112)

Luzerne, Pennsylvania, US, Luzerne (R? = 0.99)
(1: 0.1, a: 1.314, b: 0.068, t: 5.6)
(I: 5.2, a: 0.344, b: 0.071, t: 28.9)
(1: 8.5, a: 0.001, b: 0.214, t: 128.1)
JHU data
- Calculated
— #1
| —— #2
#3
0 20 40 60 30 100




Monroe, Pennsylvania, US, Monroe (R? = 0.834) Monroe, Pennsylvania, US, Monroe (R? = 0.989)

(1: 4.4, a: 0.69, b: 0.099, t: 14.2) (1: 0.6, a: 0.321, b: 0.034, t: 1.0)
(1: 2.0, a: 1.123, b: 1.265, t: 130.4) (1: 0.1, a: 1.479, b: 0.091, t: 12.9)
(1: 0.1, a: 0.285, b: 1.361, t: 139.9) (1: 0.1, a: 0.645, b: 0.067, t: 94.8)
JHU data JHU data
| == cal|culated == Calculated
— #1] 50 — #1
— #2 — #2
#3 40 #3
330-
20
10
O
0 20 40 60 80 100 120 0 20 40 60 80 100 120

t [d] (days: 118) t [d] (days: 118)



Northampton, Pennsylvania, US, Northampton (R? = 0.7)
(I: 0.6, a: 0.292, b: 0.024, t: 1.2)

Northampton, Pennsylvania, US, Northampton (R? = 0.985)
(1: 0.1, a: 1.071, b: 0.059, t: 6.7)

(1: 0.1, a: 1.811, b: 0.104, t: 12.3) (1: 0.1, a: 0.738, b: 0.043, t: 23.1)
(1: 5.7, a:0.739, b: 1.4, t: 103.0) (1: 9.8, a: 0.364, b: 0.154, t: 61.3)
140 JHU data S0 JHU data
- Calculated - Ccalculated
120 — 41 70/ —— #1
— #2 — #2
100 #3 60 #3
80 >0
= 40
00 o
30
40
20
20 10 A —
0 0 —
0 20 40 60 80 100 120 0 20 40 60 80 100 120

t [d] (days: 116)

t [d] (days: 116)



()

Philadelphia, Pennsylvania, US, Philadelphia (R? = 0.505) Philadelphia, Pennsylvania, US, Philadelphia (R? = 0.974)
(I: 6.3, a: 0.292, b: 0.025, t: 3.5) (I: 0.1, a: 0.878, b: 0.039, t: 2.7)
(1: 0.3, a: 2.0, b: 0.115, t: 16.1) (1: 86.1, a: 0.276, b: 0.07, t: 36.3)
(1: 63.5, a: 2.0, b: 1.057, t: 103.5) (1: 0.2, a: 2.0, b: 0.146, t: 100.9)
1200 JHU data JHU data
= Calculated 500 == calculated
1000 o
#3 400 #3
800
300
600: =
400 200
200 100
0 20 40 60 80 100 120 0 20 40 60 80 100 120

t [d] (days: 118)

t [d] (days: 118)



()

Lexington, South Carolina, US, Lexington (R?2 = 0.677) Lexington, South Carolina, US, Lexington (R? = 0.974)

(1: 3.1, a: 0.383, b: 0.095, t: 13.2) (1: 0.1, a: 0.643, b: 0.048, t: 4.1)
(1: 4.7, a: 2.0, b: 0.653, t: 47.5) (1: 0.1, a: 1.06, b: 0.084, t: 36.7)
(I: 46.8, a: 0.553, b: 1.4, t: 82.8) (1: 75.06, a: 0.001, b: 0.057, t: 135.0)
JHU data S0 JHU data
100 — calculated - Calculated
— #1 70| — #1
— #2 — #2
80 #3 60 #3
50
00 N
NVl []]} I Z 40
20 20
10 /
| J VERTAV ]
0 0
0 20 40 60 80 100 0 20 40 60 80 100

t [d] (days: 114) t [d] (days: 114)



()

Spartanburg, South Carolina, US, Spartanburg (R? = 0.599) Spartanburg, South Carolina, US, Spartanburg (R? = 0.986)

(1: 0.1, a: 0.937, b: 0.079, t: 11.5) (1: 3.7, a: 0.322, b: 0.107, t: 18.7)
(1: 4.1, a: 2.0, b: 0.65, t: 27.5) (1: 0.1, a: 0.252, b: 0.016, t: 46.8)
(1: 59.1, a: 0.026, b: 0.011, t: 120.5) (1: 20.2, a: 0.311, b: 0.392, t: 110.6)
JHU data JHU data
100 - Calculated 60 =— calculated
— #1 — #1
80 4s 50 ¥
60 A4O
40
/ 20
20 1 ' 10
0 S S 0 —
0 20 40 60 80 100 120 0 20 40 60 80 100 120

t [d] (days: 119) t [d] (days: 119)




Minnehaha, South Dakota, US, Minnehaha (R? = 0.855)
(1: 0.1, a: 1.024, b: 0.053, t: 16.8)

Minnehaha, South Dakota, US, Minnehaha (R? = 0.985)
(1: 2.0, a: 0.73, b: 0.067, t: 20.4)

(1: 12.6, a: 2.0, b: 0.297, t: 55.1) (1: 0.8, a: 2.0, b: 0.152, t: 51.9)
(1: 0.1, a: 0.639, b: 1.387, t: 106.8) (1: 5.3, a: 0.524, b: 0.451, t: 71.3)
JHU data 120 JHU data
== Calculated == Calculated
200 — #1 — #1
— #2 1000 4,
#3 # 3
150 A 30
100 £ 60
40
50 |
{ \ 20
oe _ ) -
0
0 20 40 60 80 100 120 0 20 40 60 80 100 120

t [d] (days: 117)

t [d] (days: 117)



()

Ellis, Texas, US, Ellis (R? = 0.306) Ellis, Texas, US, Ellis (R? =0.971)

(1: 3.4, a: 0.003, b: 0.158, t: 24.3) (1: 19.1, a: 0.345, b: 1.4, t: 95.1)
(1: 2.9, a: 2.0, b: 1.106, t: 32.9) (1: 8.7, a: 1.041, b: 0.42, t: 103.8)
(1: 0.1, a: 0.697, b: 0.043, t: 84.0) (1: 12.9, a: 0.005, b: 0.007, t: 140.0)
| JHU data JHU data
140 - Calculated - Calculated
— #1 o0 oy
1200 4 —— #2
#3 #3
100 40
30 ~30
60 -
20
40
20 | 10
O YY YV ¥V \J NJY'Y LY U S W UL O
0 20 40 60 80 100 0 20 40 60 80 100

t [d] (days: 110) t [d] (days: 110)



Harris, Texas, US, Harris (R? = 0.68)

(1: 0.1, a: 0.236, b: 0.011, t: 1.0)
(1: 0.1, a: 1.337, b: 0.062,t: 17.4)
(1: 0.1, a: 1.79, b: 0.071, t: 96.6)

2000 JHU data
== Calculated
1750 — #1
— #2
1500 #3
1250
=1000
750
500
\
0 —
0 20 40 60 80 100 120

t [d] (days: 123)

()

1200

1000

800

400

200

Harris, Texas, US, Harris (R?2 = 0.987)

(1: 4.8, a: 0.099, b: 0.009, t: 1.0)
(1: 0.1, a: 1.444, b: 0.068, t: 18.7)
(1: 0.1, a: 1.658, b: 0.067, t: 95.7)

JHU data
- Calculated
— #1
— #2

#3

A

0 20

40 60 80 100

t [d] (days: 123)

120




()

80

60

40

20

M

Idland, Texas, US, Midland (R? = 0.417)
(1: 0.8, a: 2.0, b: 0.438, t: 51.5)
(1: 4.3, a2: 0.04, b: 1.4, t: 75.7)
(1: 0.1, a: 1.014, b: 0.064, t: 82.0)

Midland, Texas, US, Midland (R? = 0.977)

(1: 0.3, a: 0.179, b: 0.032, t: 1.0)
(1: 0.1, a: 1.097, b: 0.105, t: 70.6)
(1: 0.1, a: 0.824, b: 0.052, t: 79.2)

JHU data 40 JHU data
== Calculated == Calculated
— #1 35 — #1
— #2 — #2

#3 30 #3

25
=20
15
10
5
0
0 20 40 60 80 100 0 20

t [d] (days: 108)

40 60 30 100
t [d] (days: 108)




()

Victoria, Texas, US, Victoria (R?2 = 0.512)

(1: 2.2, a: 0.001, b: 0.02, t: 38.9)
(1: 3.6, a: 2.0, b: 0.304, t: 88.9)
(1: 86.8, a: 2.0, b: 1.4, t: 98.4)

Victoria, Texas, US, Victoria (R?2 = 0.975)
(1: 1.2, a: 0.678, b: 0.191, t: 26.1)
(1: 0.1, a: 0.783, b: 0.049, t: 77.7)
(1: 0.1, a: 1.857, b: 0.105, t: 92.7)

JHU data 120 JHU data
250 | = calculated == Calculated
" 100/ — #1
— #2 —— #2
200 #3 #3
80
150 S 60
100 \ 40
50 20
0 - 0
0 20 40 60 80 100 0 20 40 60 80 100

t [d] (days: 104)

t [d] (days: 104)




()

Webb, Texas, US, Webb (R? = 0.68) Webb, Texas, US, Webb (R? = 0.99)

(1: 4.9, a: 0.228, b: 0.085, t: 10.8) (1: 4.8, a: 0.218, b: 0.083, t: 10.6)
(1: 12.5, a: 2.0, b: 0.455, t: 100.8) (1: 0.1, a: 0.601, b: 0.038, t: 74.4)
500 (1: 42.1, a: 0.004, b: 0.101, t: 113.2) (1: 35.5, a: 0.269, b: 0.387, t: 101.2)
| JHU data JHU data
— 8(0) == calculated
175 — ;allculated -
— #2 — #2
150 #3 #3
125 °0
100 =
715
25
0 - 0 —
0 20 40 60 80 100 0 20 40 60 80 100

t [d] (days: 111) t [d] (days: 111)



()

Williamson, Texas, US, Willlamson (R? = 0.758) Williamson, Texas, US, Willlamson (R? = 0.984)

(1: 2.4, a: 2.0, b: 0.799, t: 6.2) (1: 1.1, a: 0.124, b: 0.019, t: 1.0)
(1: 7.6, a: 0.002, b: 1.4, t: 16.7) (1: 0.1, a: 0.904, b: 0.053, t: 75.1)
| (1: 0.1, a: 0.917, b: 0.05, t: 78.5) (1: 0.1, a: 1.635, b: 0.094, t: 91.0)
175 JHU data JHU data
- Calculated 100 — calculated
1500 4 —#1
— #2 — #2
125 #3 80 #3
100 _ 60
75 =
40
50
55 20
0 = : 0 /
0 20 40 60 80 100 0 20 40 60 80 100

t [d] (days: 110) t [d] (days: 110)



140

120

100

Utah, Utah, US, Utah (R? = 0.818)
(1: 14.4, a: 2.0, b: 0.686, t: 14.4)
(1: 9.8, a: 0.467, b: 0.133, t: 30.8)
(1: 0.1, a: 0.371, b: 0.021, t: 57.4)

JHU data
- Calculated
— #1
— #2

#3

(AN

"/

20 40 60 80
t [d] (days: 110)

100

()

100

80

60

40

20

Utah, Utah, US, Utah (R? = 0.975)
(1: 0.1, a: 1.124, b: 0.076, t: 3.6)
(1: 20.5, a: 0.253, b: 0.116, t: 30.5)
(1: 0.1, a: 0.339, b: 0.019, t: 53.6)

JHU data
- Calculated
— #1
— #2

#3

20 40 60 80
t [d] (days: 110)

100




()

Spokane, Washington, US, Spokane (R? =0.421) Spokane, Washington, US, Spokane (R? = 0.978)

(1: 3.6, a: 0.741, b: 0.164, t: 8.2) (1: 2.6, a: 0.576, b: 0.116, t: 6.4)
(1: 11.6, a: 0.429, b: 0.549, t: 69.7) (1: 6.4, a: 0.237, b: 0.096, t: 67.8)
(1: 15.5, a: 1.475, b: 1.4, t: 83.4) (1: 0.1, a: 0.628, b: 0.038, t: 86.3)
JHU data 60 JHU data
100 == calculated = Calculated
—— #1 —— #1
— #?D 50 — H#2
80 #3 #3
40
00 .
£ 30
40
20
50 . /\
0 0 -
0 20 40 60 80 100 0 20 40 60 80 100

t [d] (days: 114) t [d] (days: 114)



Brown, Wisconsin, US, Brown (R? = 0.772)
(1: 0.1, a: 0.881, b: 0.048, t: 20.7)
(1: 8.8, a: 0.001, b: 0.111, t: 46.9)
(1: 21.9, a: 1.552, b: 1.151, t: 96.8)

Brown, Wisconsin, US, Brown (R?

0.987)

(1: 0.1, a: 0.898, b: 0.049, t: 19.3)
(1: 8.8, a: 1.089, b: 0.294, t: 43.9)
(1: 0.1, a: 0.88, b: 0.058, t: 84.8)

t [d] (days: 110)

t [d] (days: 110)

JHU data 100 JHU data
| == calculated == Calculated
— #1 — #1
| #D 80 — #2
#3 # 3
00
40
20
/ _\ J O \
0 20 40 60 80 100 0 20 40 60 80 100




Racine, Wisconsin, US, Racine (R? = 0.431) Racine, Wisconsin, US, Racine (R? = 0.973)

(1: 0.1, a: 0.403, b: 0.025, t: 20.2) (1: 5.9, a: 0.081, b: 0.079, t: 21.0)
(1: 3.4, a: 1.981, b: 1.4, t: 47.6) (1: 0.1, a: 0.527, b: 0.033, t: 30.6)
(1: 0.1, a: 1.707, b: 0.109, t: 63.4) (1: 0.1, a: 1.443, b: 0.094, t: 62.6)
JHU data JHU data
175 — calculated 60 calculated
— #1 — #1
150 — #> — #D
#3 50 #3
125
40
100 =
= 30
715
50 20
25 \ 10
0 = - 0 ~//// S
0 20 40 60 80 100 0 20 40 60 80 100

t [d] (days: 115) t [d] (days: 115)



Weber-Morgan, Utah, US, Weber-Morgan (R? = 0.785) Weber-Morgan, Utah, US, Weber-Morgan (R? = 0.992)

()

(1: 1.2, a: 2.0, b: 0.593, t: 5.0) (1: 3.6, a: 0.154, b: 0.181, t: 7.8)
(1: 2.4, a: 2.0, b: 0.771, t: 10.4) (1: 0.1, a: 0.178, b: 0.009, t: 52.3)
(1: 92.9, a: 0.014, b: 0.019, t: 139.9) (1: 4.1, a: 0.261, b: 0.869, t: 79.0)
JHU data 50 JHU data
- Calculated - Ccalculated
— #1 — #1
— #2 40| —— #2
#3 #3
30
20
10
- - = 0 /
0 20 40 60 80 100 0 20 40 60 80 100

t [d] (days: 112) t [d] (days: 112)



